[ Efficiency vs vertpos |
-~ 0.5

TP SRS N S— —

2 : : : :
O T CoTT
o F . . .
§0.3BF i oo s

effic

SRR R — —
0,25 -vvverrien — S—

19U N S S

T R SO 75 S S

Y SN S N S

: : + =
o

+| |

———r
———

0.95L ;
1072 10 1

10 0?
TP vertr (cr%)

[—=— DQM_original_stepZ_tbar-pnase-newgeom

—e— DQM_mkFit_step2_tthar-phasel-newgeom
Efficiend —— D8M_ang|e_step2 ttbar-phasel-newgeom
—— DOM

fast_step2_ttbar-phasel-newgeom
~ 0.2

T 10 ARt At S B

[ E . . . . .
Z0.16p - AR | IR R R
>"TF : : : : :
) C o : : :
2014p N | E N | 1N 1
8] L . . . . .
E=L O 2] el £ AR SRR A | | N SRR
o E : : : : :
0.1 111 i a1 1114
0.08F- | [ oo B oo
oot g -yl
oot il LT
F : f +M.'o,‘»++ d
0.02F g~ flifis--rerieeeeeees AR B 1§
94-\-OIIIII
T I
o r i i i
=11 kaycot ARayi I A1
005t i i i i i
=30 -20 -10 0 10 20 30

TP vert z (cm)

[ Efficiency vs. sim PV z |
~ 0.1
>
0.0.09
S
#0.08
£0.07
3
£0.06
Q
o
£0.05
3]
0.04
0.03
0.02f---+ ; : : :
Y0 SR T (A SN S SO S

Y| R U TR FUTE FUUTE PN FUUT PO

Ratio

1

o
©
al

o
©
TTTT

|
N
o

|
[N
(&}

-10 -5 0 5 10 15 20
Sim. PV z (cm)



	Contents
	Page 1


